7.1,7.2 HW

Pg. 223 #1-3, 6,7

For Exercises 1-4, examine the scatter plot and state whether it
appears to contain a pattern. If it does, indicate whether it shows
a. a positive relationship, a negative relationship, or neither.

b. astrong linear relationship, a weak linear relationship, or a
nonlinear relationship.
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For Exercises 6-7, do the following,.
a. Identify the independent and dependent variables.
b. State whether you think the relationship between the two
variables is positive or negative, or neither. Explain your

answer.
6. For twenty highways during one month, average car speeds and
the numbers of fatal accidents are recorded.
7. For eight weeks in the summer, the amount of rainfall and the

average number of cars in a beach parking lot are recorded.
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1.
the given data well? Explain your reasoning,.

Which of the graphs below show(s) a line that appears to model
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For Exercises 2-6, use the following data that were collected from a
group of adults.

ForearmLength (in) | 103 | 109 | 116 | 11.4 | 10.0 | 9.2 | 109 | 102 | 10.1 | 10.6 ]U.(w.

Helght (In.) 0 | 2| m|[7n |e3|ea || 60| 68 |6s] 690
2. Make a scatter plot of the data. 2)
3. Draw a line that appears to model the trend in the data well. Find .
its equation. 3) Slmpl e answer
Explain the meaning of the slope for this context. h= 5 f + 15.9
5. Use your model to predict the height of a person with a forearm

length of 9.5 inches.

6. Use your model to predict the forearm length of a person that is l}) A_ P"'s on's Ws e
68 inches tall.
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A————=  For Exercises 7-11, use the data in the table to the left, which

POU“%S of dC:’IS‘ shows the cost of different amounts of bulk bead purchases by a
Beads | (dollars) maker of jewelry for two months.
1 100 7. Make a scatter plot and draw a line that appears to fit the data well.

1% 1.50 8. Find an equat—ion' for your line. ‘ ' “m “ M c = ,. '1 - 0.02

2 210 9. Explain the meaning of the slope. Does it make sense for this context? P r

2% AT 10. fE;ptlEglct‘};eﬂget?amng of the vertical intercept. Does it make sense m cos * s “ l ) |2 |b .F “d‘
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34 3‘5('; 11. \Hvszzélllé:;l:?does your model predict that 5 pounds of beads 1“ , blc .'* ‘S “"'\1 ‘PPM .

D | et e on ook i & L. of beads

and draw a line that fits the data well.
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